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Give the Domain and Range for each relation in set and interval notation.
1. >
.. Basket: Ball Points Scoredy -~ - v

I:m -Irene. -Anna -Le.a Khd‘(keh |
Points | 22 | 12 | 16 | 12

Domain: § \vaw g, Leg, kadte

Range:élL v e \7—7'5 |

3-4 Use the vertical line test | 5. Money: In 1999 the US Mint began Feleasing quarters to commemorate

to determine whether each each of the 50 states. The release schedule specified that each year for a
total of 10 years, new quarters commemorating 5 different states would

be released. Explain whether each relation is a function.

(Hint: Make a list of the data.) o

A) from each year to the number of states with new quarters released
— in that year.
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relation is a function. If not a
function, identify two points a
vertical line could pass
through.
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B) from each stateto the ;ear' its quarter is released U;'\ CATON
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C) from each year to the states with new quarters released in that
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D) from each year to the total number of states with dqlarters

released by the end of the year Moy 4 & ol SHeRS
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E) from the number of new quarters released each yet;r' to the year
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Give the Domain and Range of each relation. Then explain whether the relation is a funcﬂon.L

7. {(7.1),(7,2),(7,3),(7,4), (7, 6)}

Na K's cepeas oF

8 9, & 10 For each function evaluate 7 (0), 7 (1.5), arlt_i f(-{).

10. Gmph the function: g(x)= —3x+6
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11. For the function, f(x) =7x—4  evaluate 12 Evaluate the function, f(x)=x(1—2x) for
9 ce p\aq,o.. X
the replacement set {—8,——,1, D, 4}-\») e )

f©. fG).and (-1 . : Ny
4@""):7(2 - )= (-8Y\ - 2(-)) wuse Cuil,




